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I Analysis of example of 131277 n’27 — “m91 N1Nn”

a

b

Q: even if the borrower doesn’t have wine, why should that matter?
i Support: ruling that as soon as the market value is set for a crop, futures may be bought
Answer (737): when he is using the fruit to generate a financial debt (jn'n72 230% R2)
i Support: if a creditor comes to the 171 to collect his money (in order to buy wheat) and the debtor tells him
that he has wheat and the creditor can go buy for the next 12 months based on today’s 7pw — 1708
1 Reason: it isn’t similar to having the money come into his hands
ii  Challenge (»an): if that is the formulation, even if borrower has wine, should be Mo (creditor didn’t get it)
Answer (7aK): prohibited as 1’11 nnIyn, as per example of X190 "
i Borrower: buys wheat from lender at X and sells it back at X-n (1 constitutes n’a3 nnayn)
ii ~ Parallel: in our case, borrower “buys” wheat at 30 and sells it back at 25 (1 ant 72>7)
1 Therefore: if the "5 has wine to sell for 30 — fine, as the nn is getting m9; if not — n>a7 NN
Challenge (827): language of nywn militates against this explanation (should be »0’n 7, 'NNY etc)
i Answer (»3N8): variant reading of mwn bears that out
Challenge (527): but the value had been set at 25, not 30! Rather:
Answer (X33, per N2Y@IN “T's 8n17273): if A owed B 100, and they met at C’s granary
i And: A demanded his money from B, as he wanted to buy grain from C
And: B told A that he had grain that he would sell him per the current market price
But: when it came time to pick up the wheat, A demanded his wheat as he wished to sell it for wine
Then: B told him that he had wine and requested it be fixed per the current market price
But: when it came time to pick up the wine, the same happened and A wanted oil and B offered it
Ruling (x2yix 79): in all cases, if B actually had that product at the time, permitted; if not — 1708
(a) And: "mp%” should be understood as “took as a loan”
ii ~ ~27 inferred 3 principles from R™’s ruling
1 We may: set aloan on fruit - and we’re not concerned about 1% Ran IOR
2 We require: that he own the product at the time that he transfers the loan to it
3 Weaccept: "Ry *v's ruling (contra a7):
(a) ~7p2p: 27 allows mnR (futures buying) of fruit, but not currency (looks like n’1)
(i) w2 "7 no distinction between the fruit or their valued currency
(b) Challenge (to 27): ®RyWIR 7's ruling that as long as the N has the fruit, the transfer is permitted
(i) Defense: this only holds if the nmYn took possession of the wheat/wine/oil
(ii) Challenge: if he took possession, isn’t it obvious that it is valid?
1. Rather: must be a case where the N5 designated a spot for the product
Answer (589): this ruling follows nTin’ "1 — that “one-sided” n»11 is permitted
i Case: A owes B money and the lender “buys” field rent-free;
1 If: if seller eats m7a — permitted; if buyer, 1321 forbid and nmn> 1 allows
(a) Note: nTn 1 cited case where buyer ate m7°a — 13117 responded that in that case, seller was eating M9
(i) Dispute (»2x): whether n>272 TnR 1% (i.e. it may not play out to be n»17) is 1mm
(if) ~27 all agree that MoR n272 7R 7¥; dispute is 1Mo n”y nan
N2 once we accept 'Ry "1 equation of the fruit with their value in currency
i Then: we can also reverse it and allow currency to be exchanged for fruit
ii ~ Therefore: we may set a price per the current market value even if the 923 doesn’t have the product as of now
iii ~ Challenge (N27's students): WYX "1's ruling above — only valid if he has the fruit at the time
1 Defense (x¥37): that is in the case of a loan (127 concerns); he’s only applying to a futures sale
Alternatively (901 777 7127): reason we allow purchasing in futures per current value
i Reason: buyer gets no gain, as if he had money, he’d buy cheaper in villages
ii  Challenge (901 "15 »28): if so, we should be able to lend nxva nkv — as they would’ve appreciated anyways
1  Answer (9o 79): that is a loan, therefore we don’t allow (11 wwn)
Challenge (to #27by »7an7): he still gains, as otherwise he’d have to pay a middle-man
i Answer 1 (827): he gives it in either case — no gain
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ii ~ Answer2 (»wx 73): the buyer’s money is his “middle-man” and attracts the seller
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